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Topic:- Child Development & Pedagogy (CDP)

1) Identical Twins have . | TUEY S[Sai (Mgsfewd gi)
1. developed out of two ova / Eﬁ 3isi O faslya Eﬁ?f %I

2. no identical heredity/afl's“; o gawT mgafélw el grdr gl
3. common heredity / 5 THTeT ﬁﬂﬁfﬂﬁT grdr gl
4. usually no resemblance to each other/ 378 diX 9T Th qgﬁ q PIg AT 18T ¢

Correct Answer :-

« common heredity / H @A a@afe\lw giar &1

2) Masculinity and femininity are typically linked to

| S B €1
1. Sexism / felaTdig

2. Sex / felar

3. Gender / foiar

4. Patriarchy / Tdc=d

Correct Answer :-

« Gender/ a1

3) It's the part of the scientific method that uses the data to help explain the results of the

experiment. What is it caIIed?/ﬂgaﬁTﬁﬁ?q@'ﬁﬁwméﬁﬁm%Wﬁ
RS HI A Heg B o AT ST SUANT Hal 31 T T Hed 82

1. Conclusion/ sy
2. Purpose/ FATSTeT

3. Hypothesis/ 9eheTddT



4. Observation/ 3TdcileheT

Correct Answer :-

« Conclusion/ fshy

4) Judgment should come through a systematic analysis and evaluation. This is known as

_ ./ ol v oafRua faxawor sk geaied & Areaw | giFn ifeul 31
9 & ST ST 8

1. Critical thinking / 3TgeT TRideT
2. Insightful thinking / 3 fSequl fRider

3. Emotional thinking / HTdsTTlcHe% el

4. Divergent thinking / 3T99RT TIdeT

Correct Answer :-

« Critical thinking / 3TgeT f&iceT

5) The average attention span of a high school student is: / T TS el ¥ o i taa
e Aty fhae @ &

1. 32-40min/ 32-40 fAsIC
2. 25-30min/ 25-30 A=
3. 10-12min / 10-12 A€
4. 15-20 min/ 15-20 fAsTC

Correct Answer :-

e 10-12min/ 10-12 fAse

6) When is the best time to reinforce behavior? / SJagR HI JAAd HIA H TG ST
AT §d 82

1. Long before the behavior occurs / cIdgX ?I?-T q Elg’(—f HAT ‘T&"@f

2. Long after the behavior occurs / IR &lel o ofd THI dI¢

3. Shortly after the behavior occurs / SIdg g S AT dl

4, Shortly before the behavior occurs / cIdgR ?I?T b=y S HAY L-I*ao\i

Correct Answer :-



« Shortly after the behavior occurs / SIdgR g PO AT §Iq

7) When a pleasant stimulus is added to increase the incidence of a behavior, it is known as:
| ST U SAAGR Y AT P 951 & [T TF GG 389 H AT AT 8, AT 3
T H ST ST § |

1. Positive punishment / §hRTcHb GUS

2. Positive reinforcement / HhRTcHh go-lcfloia-i

3. Negative punishment / sTohRTcHh qUS

4. Negative reinforcement / sTohRTcHb Lj;:-l«scloio-l

Correct Answer :-

 Positive reinforcement / HhRTcHh l;iﬂ;:-lscloio-l

8) Unless the typist, in order to learn typing prepares himself to start, he would not make
much progress in a lethargic and unprepared manner. Who proposed this learning theory

which believes in the ‘Law of Readiness’? / SI§ d& cISA¥e, agﬁvr sfaer & Qv gq
aﬁwwﬁﬁ:ﬁwmaﬁm%mﬁaﬁwmﬁtmmﬁm
maﬁmuwmmmmﬁmmm T & e A
faearw &ar §72

1. Jean Piaget / SfieT TSt

2. Edward Thorndike / USds U85
3. Wolfgang Kohler / aiehalaT dhlgek
4. Tan Pavlov / 34T UTdeild

Correct Answer :-

« Edward Thorndike / USdS UTISSeh

9) One way to involve all students in the class, so that no one feels left out is by: / & J

st sl A afAe w1 vF alFw @ § A’ 9 o T Aeaw T W F 3@
oI & 3 §:

1. Punishing the non-performing students / I-9eeTT T arel BTAT P €8 &l

2. Changing the seating arrangements / SG ST STGEAT I FTGofed]

3. Ignore the uninvolved students / TS=IT enfder gl arer BTl T 3ULT el



4. Send the uninvolved students out of the class / ICRIRUIES] E?f%[ i S Bl DHET q dlg v
ol

Correct Answer :-

« Changing the seating arrangements / S&e1 @l cIATAT Pl SGolell

10) During a guidance service the help that a client receives is for: / T ArtgesT dar &
e, ag #Ace Y UF ARF A U fav A §:

1. giving solutions/ THTHTT el
2. making decisions on behalf of the client/ ITgeh T 3R & oot o
3. impose opinions/ I A=t

4. focus on setting goals and problem solving/ o1& fraRoT 3R gHEIT gAY W
Ol

Correct Answer :-

» focus on setting goals and problem solving/ & freRor ik gFEar geEYe W)

11) During development, a major prerequisite for learning is: / @@ & gRwet, rflasr &
fT v gog@ ot @

1. Maturation / 9RUFadT
2. Encouragement / JicaTgel

3. Guidance / faermeT
4. Financial help / fdcdr @graar

Correct Answer :-

« Maturation / IR9aradr

12) Qver protectiveness of parents leads to in the child. / ATA-Rar 7 33ats
FTcAHAT o HY # 3R F S B

1. Confidence / 3TcATaa T

2. Dependence / f¥eRar

3. Ego strength / 3-1€T=FIT IEG]

4. Level of aspiration / 3ThT&IT TR



Correct Answer :-

« Dependence / IGELGII

13) Which of the following is a characteristic of the project method? / A=ifaf@a & &
Fia-dY v doge A i fadvar &2

1. A voluntary undertaking / Ud> @quo ogddry %I
2. Carried in its natural setting / 3011 Eﬂ?‘%ﬁ? IfeT & &F ST ]
3. Problematic act / JHIITHD OPIJI

4, Used for all round development of child’s personality / T & Ifadd & gafhor e & %‘I’Q
STIRT & e g

Correct Answer :-

« Used for all round development of child’s personality / ST & afadd & gafior e & 1%’1?
SUINT & el g

14) Which one of the following is a principle of counselling/ fafaf@a & ¥ Far e
&1 o g 82

1. Diagnosis of external appearances. / STg3l f¢@rd & G|
2. Acceptance and understanding of individuals. / SIf&ddt T W’Tf»ﬁf 3R FFE|

3. Flexibility of program according to community needs. / F@aﬁ? 3TALIHRATIHT & AN
FIIHHA T ATl |

4. extending help to all individuals. / Y cITFAAT I TETIAT YTeT HleAT|

Correct Answer :-

« Acceptance and understanding of individuals. / SITFAGT T Fﬂﬁjﬁ AR GHS

15) Which is the second stage of psychosocial development according to Erik Erikson? /

RF tRFET F IqUR, FEATSNS RAFE FT g@r a0 Hia-ar 82

1. Initiative vs. guilt / gl delTH 39T

2. Autonomy vs. shame and doubt / TITIAT FITH QA 3R TE

3. Industry vs. inferiority / IR AT EleTdl

4. Generativity vs. stagnation / 3GRdl SdATH Sglld

Correct Answer :-



« Autonomy vs. shame and doubt / TIAIAT §AH T iR TE

16) The premise that an individual's behavior and affect are largely determined by his or
her attitudes and assumptions about the world underlies: / a8 3TUR 3 fFdY =aFa &
agR AR gHE A 93 YA W3S Ao IR g A wEm F A A
A3 garr fuiRa frar S &

1. Cognitive-behavior therapy/ HalTdTcHh-cTdgk AT

2. Psychoanalytic psychotherapy/ HANTALAYUTcHS Hell [ TchedT
3. Milieu therapy/ o3 a¥dr

4. Modeling/ ATSToIaT

Correct Answer :-

« Cognitive-behavior therapy/ HalTdTcH-cTdgk AT

17) In which stage of development does the child learn motor and physical skills necessary
for playing different indoor and outdoor games? / @&/ & &y aor # goar R
313 31X 3M3EER A7 @ea & AT 3maeds A 3R arifiRE sl daar &2

1. Later childhood (6 to 12 years)/ T STeATaTAT (6 ¥ 12 dV)

2. Infancy (up to 2 years)/ AAATAEAT (2 IV dh)

3. Adolescence (from 12 to 18 years)/ fRIRTGEAT (12 ¥ 18 dY dh)
4. Early childhood (3 to 5 years)/ IRfHeh STedraedT (3 5 V)

Correct Answer :-

« Later childhood (6 to 12 years)/ 9T STeATaTAT (6 T 12 dW)

18) What must be encouraged in the second stage of psychosocial development according to
Erikson? / TREFHT & HJAR, AANGAAF @FF & q@ @1 § F41 Dcamegd BFam
ST Tfee?

1. Relationships / T&eT

2. Support / HEANT
3. Proximal development / foeheads Taerd
4. Exploration / 3{ed¥0T

Correct Answer :-



« Exploration / 37=d¥uT

19) What is the term used to denote the long-term increase in IQ over the past few decades?
| Rod & qudl |, eftwar IEFy) A fuwrfas e F1 AFhaT = F Qv
e ereg F1 399NT fFaT STar @2

1. The Flynn effect / foeleT TTa

2. The generation gap / TGl 3TaRTel

3. The 1Q effect / 3-]T§EF€{\ JHTT

4. The Wechsler effect / dTER JHIT

Correct Answer :-

« The Flynn effect / TFeleT T

20) What theory focuses on the role of operant conditioning in language acquisition? / #T9T

H#AIEUr #H TR TR A HAF W T w1 Ry Ha
1. Nativist theory / afefase @Eﬁﬂ?—l’

2. Nature theory / ‘;IT% GECIG]

3. Cognitive theory / HTellcH® TAGHTd

4. Behaviourist theory / c¥dgRare fgurd

Correct Answer :-

« Behaviourist theory / STdgRaTE! fAcurd

21) What career would be ideal for a child with high spatial intelligence? / 3= Taifa®
E ad To4 F AT i q1 gawT e’ gen?

1. Architecture / aTEJhell

2. Musical composition / HINd I=AT
3. Politics / TTSTeifcl

4. Writing / Ter@sr

Correct Answer :-

o Architecture / arEdehell



22) Interest as well as is a must to achieve desired success in a task. / T & 91T -a1g
, T 1 H i d AheldT UTcd il & fT 3maed+ g

1. Attitude / 3TTRGFRY

2. Hard work / &R IS
3. Aptitude / JTdT

4. Intelligence / ﬂﬂ'ﬁ'

Correct Answer :-

« Aptitude / J¥IT

23) Who is the father of Psychoanalysis? / ANTARANYT & SeAsh HieT §2
1. Carl Jung/EF»Iﬁ ﬂW

2. Erik Erikson / TR TREFHT

3. Jacques Lacan / SiTeh CIEa

4. Sigmund Freud / F89H3 WHras

Correct Answer :-

« Sigmund Freud / [87Hs %S

24) The Two-factor theory is introduced by: / gfd®R® fRguid so1& garT yfaurfea
e aram:

1. Lev Vygotsky / fora arsaiicaehr
2. Abraham Maslow / 3TsTgd ATEAT

3. Jean William Fritz Piaget / Sii<1 faferad fhes faamat

4. Frederick Herzberg / DhSI“QOb Svlcd‘lc

Correct Answer :-

o Frederick Herzberg / Cbsi\{do 6\;[@“?

25) The two factors which were identified in the Two-factor theory are: / gfa®R®
fguia # O & FR&T A vga & 7§ €AY, 3 §

1. chemical and social / TS 3R @A
2. motivation and hygiene / 3IfHOROT (Aifeaers) 3R TaTodr (g8eie)




3. physical and economical / #ifas 3iX Mg
4. biological and environmental / Sfae iR wafarufiy

Correct Answer :-

. motivation and hygiene / 3RO (FAfeaee) 3R TaTadr (§Esi)

26) Louis L. Thurstone did not focus on which of the following abilities? / RFIfaf@T A A
forer a1raT WX 3w v, gLt F earer Ffga w1 fram

1. Associative Memory /'Hﬁ'lff?ﬂ_ﬁ
2. Verbal Comprehension /?Fﬁmﬂ_q"c'm
3. Psychomotor Ability / #ATIROT JIAT

4. Numerical Ability / IRSTHD &I

Correct Answer :-

« Psychomotor Ability / AIIYIOT JIAT

27) Problem in spelling and reading are faced by a child affected by: / %1 & ysnfaa s
TT9 gaNT qcisit 3 IgeT # HAEIT T GTHAT FIAT ST 8

1. Dysgraphia / feganftear
2. Aphasia / aTTdTd

3. Dyslexia | BrafEgar

4. Dyspraxia / fFSEoTFaar

Correct Answer :-

« Dyslexia / F3Taifdaar

28) Pedagogy means to | Rrememea &1 3
gl

1. educate the child / §=d o ATET HET

2. lead the child / = &l o%d;q el

3. guide the child / ST T IMSS Fl

4. understand the child / ST HI JHST

Correct Answer :-



« understand the child / SO I FHSTA

29) The method that enables a student to solve a problem, carry out a task, or achieve a goal
through a gradual shedding of outside assistance is called: / & ﬁﬁ[ G‘ﬁ W SHA aﬁ W
U B g6 B, foelt wrf o1 3 37 a1 A58} AeTdT & HiUP Ueg S wHAH
A TP AT U B3 T & S 3, 39 gl oIl &

1. Scaffolding / 9T (THHITes3T)
2. Active learning / feha 31f&9TH
3. Root memorization / #el AT

4. Drilling / Igl?ﬂl

Correct Answer :-

« Scaffolding / 918 (ThHifesaT)

30) Babies learn to differentiate between day and night by the age of ./ Cd|

3Tg I F= A iR Ia A 3iaR 1 dhed 21
1. Six months / &g HAglT

2. Three months / cilel HFalel

3. One year / Ueh a¥

4. Nine months / 3l #AgIT

Correct Answer :-

« Three months / el FgIT

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:

What he says is in the realm of imagination and highly hypothetic--.

1. -ating
2. —ally
3. -ity
4. - al

Correct Answer :-

o -al



2) Read the following passage carefully and answer the questions that follows:

Colours have a lasting effect on people. At present, major companies spend millions of rupees
on deciding what colours are the most effective when marketing their products. This is because
colours have a deciding influence on the customer’s psychology and purchase decision.
Nowadays we can buy radios and electric fans in lavender and pink. Restaurants emphasise on
the use of flowers and colourful plates. Cars are coming out in pink and aqua. Part of the
importance of the colour of an object is due to the fact that the colour affects the way one feels
about it. Since we want a vacuum cleaner to look light and easy, it is generally coloured in
pastels and light colours. But gardening equipment and athletic equipment need to look
powerful. That is why we rarely find a lawnmower in pink, but red is fine. Not long ago, sheets
were always white and refrigerators commonly came in colours like ‘old gold’, ‘avocado green
‘and ‘copper tone’. Now these colours are considered old-fashioned.

What would be the most appropriate title for the passage?
1. Awareness about purchase

2. Impact of colours on people

3. Psychology of people

4. Need for colours

Correct Answer :-

» Impact of colours on people

3) Read the following passage carefully and answer the questions that follows:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins, the
more we realize that their society is more complex than people previously imagined. They look
after other dolphins when they are ill, care for pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in
favour of man's superiority over them that we can kill them more easily than they can kill us is
the least satisfactory. On the contrary, the more we discover about these remarkable creatures,
the less we appear superior when we destroy them.

What does the writer advocate in the passage?
1. Intelligence of dolphins

2. Protection of dolphins

3. Friendliness of dolphins

4. Intelligence of humans



Correct Answer :-

» Protection of dolphins

4) Read the following passage carefully and answer the questions that follows:

Colours have a lasting effect on people. At present, major companies spend millions of rupees
on deciding what colours are the most effective when marketing their products. This is because
colours have a deciding influence on the customer’s psychology and purchase decision.
Nowadays we can buy radios and electric fans in lavender and pink. Restaurants emphasise on
the use of flowers and colourful plates. Cars are coming out in pink and aqua. Part of the
importance of the colour of an object is due to the fact that the colour affects the way one feels
about it. Since we want a vacuum cleaner to look light and easy, it is generally coloured in
pastels and light colours. But gardening equipment and athletic equipment need to look
powerful. That is why we rarely find a lawnmower in pink, but red is fine. Not long ago, sheets
were always white and refrigerators commonly came in colours like ‘old gold’, ‘avocado green
‘and ‘copper tone’. Now these colours are considered old-fashioned.

Why are light colours used in some products?
1. To win over customers

2. To create a favourable impression

3. To make the products light and easy

4. To sell unwanted products

Correct Answer :-

* To make the products light and easy

5) Read the following passage carefully and answer the questions that follows:

Colours have a lasting effect on people. At present, major companies spend millions of rupees
on deciding what colours are the most effective when marketing their products. This is because
colours have a deciding influence on the customer’'s psychology and purchase decision.
Nowadays we can buy radios and electric fans in lavender and pink. Restaurants emphasise on
the use of flowers and colourful plates. Cars are coming out in pink and aqua. Part of the
importance of the colour of an object is due to the fact that the colour affects the way one feels
about it. Since we want a vacuum cleaner to look light and easy, it is generally coloured in
pastels and light colours. But gardening equipment and athletic equipment need to look
powerful. That is why we rarely find a lawnmower in pink, but red is fine. Not long ago, sheets
were always white and refrigerators commonly came in colours like ‘old gold’, ‘avocado green
‘and ‘copper tone’. Now these colours are considered old-fashioned.

Why are some products not in light colours?
1. To make them look tough

2. To make them look inexpensive



3. To make them look attractive

4. To make them easy to operate

Correct Answer :-

* To make them look tough

6) Read the following passage carefully and answer the questions that follows:

Colours have a lasting effect on people. At present, major companies spend millions of rupees
on deciding what colours are the most effective when marketing their products. This is because
colours have a deciding influence on the customer’'s psychology and purchase decision.
Nowadays we can buy radios and electric fans in lavender and pink. Restaurants emphasise on
the use of flowers and colourful plates. Cars are coming out in pink and aqua. Part of the
importance of the colour of an object is due to the fact that the colour affects the way one feels
about it. Since we want a vacuum cleaner to look light and easy, it is generally coloured in
pastels and light colours. But gardening equipment and athletic equipment need to look
powerful. That is why we rarely find a lawnmower in pink, but red is fine. Not long ago, sheets
were always white and refrigerators commonly came in colours like ‘old gold’, ‘avocado green
‘and ‘copper tone’. Now these colours are considered old-fashioned.

What do the companies look for while marketing their products?
1. They study the attitude of their customers

2. They look for profits

3. They see how colours influence their customers

4. They see how customers like their products

Correct Answer :-

* They see how colours influence their customers

7) Read the following passage carefully and answer the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins, the
more we realize that their society is more complex than people previously imagined. They look
after other dolphins when they are ill, care for pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in
favour of man's superiority over them that we can kill them more easily than they can kill us is
the least satisfactory. On the contrary, the more we discover about these remarkable creatures,
the less we appear superior when we destroy them.

What are some similarities between humans and dolphins?



1. Care for the sick, the pregnant and the weak in the community
2. Care for the weak and the healthy
3. Care for the old and the weak

4, Care for the bold and the beautiful

Correct Answer :-

» Care for the sick, the pregnant and the weak in the community

8) Read the following passage carefully and answer the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins, the
more we realize that their society is more complex than people previously imagined. They look
after other dolphins when they are ill, care for pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in
favour of man's superiority over them that we can kill them more easily than they can kill us is
the least satisfactory. On the contrary, the more we discover about these remarkable creatures,
the less we appear superior when we destroy them.

How do humans prove that they are superior to dolphins, according to the writer?
1. By killing them

2. By pampering them

3. By competing with them

4. By outmanoeuvring them

Correct Answer :-

» By killing them

9) Read the following passage carefully and answer the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins, the
more we realize that their society is more complex than people previously imagined. They look
after other dolphins when they are ill, care for pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in
favour of man's superiority over them that we can kill them more easily than they can kill us is
the least satisfactory. On the contrary, the more we discover about these remarkable creatures,
the less we appear superior when we destroy them.

How do dolphins communicate with each other?



1. With the help of symbols
2. With the help of movements
3. Without needing words

4. With the help of a language

Correct Answer :-
« Without needing words

10) Read the sentence carefully and choose the option that has an error in it:

The rate of violent crime are eight times greater in cities than in villages.
1. eight times greater

2. are

3. in cities than in villages.

4. The rate of violent crime

Correct Answer :-

11) Which of the following options best combines the following sentences?

The fire destroyed the whole slum. The fire commissioner ordered that no combustible material
be kept in such houses.

1. After the fire had destroyed the whole slum, the fire commissioner ordered that no combustible material
be kept in such houses.

2. In spite of the fire destroyed the whole slum, the fire commissioner ordered that no combustible
material be kept in such houses.

3. The fire destroyed the whole slum, but the fire commissioner ordered that no combustible material be
kept in such houses.

4. Having the fire destroyed the whole slum, the fire commissioner ordered that no combustible material
be kept in such houses.

Correct Answer :-

» After the fire had destroyed the whole slum, the fire commissioner ordered that no combustible
material be kept in such houses.



Choose the right tag:

He has a fine sense of humour, ?
1. hasn't he

2. has he

3. hadn't he

4, had he

Correct Answer :-

* hasn't he

13) Choose the option that substitutes the given phrase appropriately.
Those who work in the same department

1. Colleagues

2. Brethrens

3. Assistants

4, Friends

Correct Answer :-
e Colleagues

14) Rewrite the following changing the active sentence to passive.

The Army chief reprimanded his subordinate.

1. His subordinate is reprimanded by the Army chief.

2. His subordinate was being reprimanded by the Army chief.
3. His subordinate was reprimanded by the Army chief.

4. His subordinate is being reprimanded by the Army chief.

Correct Answer :-

» His subordinate was reprimanded by the Army chief.

15) Choose the appropriate option to fill in the blank in the given sentence:

Rev’s company does not prefer candidates who are young and --experienced.



1. un--
2. ill--

3. dis--

4, in--

Correct Answer :-

16) Choose the appropriate antonym for the highlighted word in the given sentence.

The gregarious child ran up to every person in the playground to invite them to the play.
1. glorious

2. convivial

3. reclusive

4. clubbable

Correct Answer :-

¢ reclusive

17) Choose the appropriate prepositions for the given sentence:

Jerryisaccused __ breaking  his neighbour's house.
1. of... into

2. at... through

3. in... from

4. about... against

Correct Answer :-

o of... into

18) Choose the appropriate synonym for the highlighted word in the given sentence.

I had been rudely awakened out of my deep slumber.

1. roused



2. scolded
3. disturbed
4. weakened

Correct Answer :-

e roused

19) Choose the appropriate conjunction for the given sentence.

She wants to go for para sailing ____ being fearful of heights.
1. and

2. as

3. despite

4. s0

Correct Answer :-

o despite

20) Choose the appropriate option that rewrites the given sentence in indirect speech.

Mohan said to Ajay,” Please help me.”

1. Mohan was asked by Ajay to help him.
2. Mohan advised Ajay if he would help him.
3. Mohan ordered Ajay to help him.

4. Mohan requested Ajay to help him.

Correct Answer :-
¢ Mohan requested Ajay to help him.

21) Choose the appropriate option that rewrites the given sentence in its passive voice.

This surprises me.
1. I will be surprised by this.

2. I would have been surprised by this.



3. I am surprised by this.

4. I was surprised by this.

Correct Answer :-
e [ am surprised by this.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:
Leaders of the striking workers that their strike soon.
1. announces... will be ending

2. announced...end

3. have announced... will be ending

4, has announced... ended

Correct Answer :-

» have announced... will be ending

23) Choose the appropriate tense to fill in the blank in the given sentence:

Rakesh was late for the meeting and was angry because we without him.
1. has started

2. had started

3. were started

4. have start

Correct Answer :-
» had started

24) Choose the most suitable pronouns for the given sentence:

__ bikedoesn'twork.Can___help__ repair___?
1. Their ... they ... we ... them

2. Our ... they ... me ... her

3. My..you..me..it

4, His ... you ... her ... it



Correct Answer :-
¢ My..you..me..it

25) Choose appropriate articles for the given sentence:

He is yearning for neither _ famenor _____ fortune.
1. no article required...the

2. no article... no article

3. a...no article required

4, the...the

Correct Answer :-
e no article... no article

26) Choose appropriate determiner for the given sentence:
of the students were affected by the sudden bus strike.
1. Many
2. Much
3. Less

4. A little

Correct Answer :-

27) Choose an appropriate article for the given sentence:

colleague of mine is coming to visit next week.
1. The
2. No article
3. An

4. A

Correct Answer :-

e A



28) Choose an appropriate modal for the given sentence:

Dileepan do such a thing because he's a gentle boy.
1.isnt

2. hasn't

3. wouldn’t

4, wasn’t

Correct Answer :-
e wouldn’t

29) Choose the option that best explains the highlighted expression:

If I had a chance to go to America, I would make the most of it.
1. go there as soon as possible

2. withdraw myself

3. enjoy to the maximum extent

4, travel as much as possible

Correct Answer :-
* enjoy to the maximum extent

30) Choose the right tag:

You live here from past 4 years, ?
1. does you
2. don’t you
3. doyou
4. isn’t it
Correct Answer :-
e don’tyou

Topic:- General Hindi(L2GH)



1) 4R g0 9¢ gan R g9 3¢ Tan
F1Y A 391 ¥ 91 &l |oll 3
o W g T8 g H T EN
dR g9 9¢ Tan IR qu 9¢ Tarn
| UgTS & Rie 31 <ers 8l

= frer 30 75t g fAsw set agt
dR g4 9¢ Tan R qu 9¢ Tarn
U g fE e TR AU g

T q 9¢ 9! I I 9¢ Tl

dR g4 9¢ Tan IR qu 9¢ Tar
ITIT U B UgH 19 IR T1H 9T YR BT IR Jaise|
IR | @ s 82

1. HHAIAR

2. T

3. T

4. fasgr

Correct Answer :-

2) dR g# F¢ TeN R gH 93 Tal
E1Y H £qo @ a1 & Foll @
tas Fft g TE g welt T A
R g ¢ Tal o gF 93 Tan
A 9ETs @ e A gEs @

qw fast s adt gu st st gt
dR g @@ Tal o gF 93 TN
yid @ o6 Ta @ "o @Y 7 Wy @
T ¥ 9¢ A o5 @ 9 TA

R qH 9¢ Tl o) A 9 e
3YYFT ISHY T YGHT AT qF S a1 WA FT 3ca} IARTI

geaT: AT EAAT FAT FIAT §7?



1. TETETT &
2. #iar Bl
3. Gg13dT ¢
4. IR &l

Correct Answer :-

-IES

3) 4R q& ¥¢ el o gH 93 TN

Y H €I W 91 &l Holl @

SEESE CESECE R

R g 9¢ Tan R gH T¢ Tan

oA gers @ e A qers @

@ st =0 i g st ser o

R qi 93 Fan R gH I Tan

v 8 B T & "o @Y F Wi @

¥4 ¥ 9 9 I & 9¢ 9a

dR g ¢ Tal o gF 93 Tan

3YYFA ISHIYT T YGHT Al q&F S a1 WA HT 3ca] TASTI
veeT: Ffa g fir ¥ s & AT F @ 82
1.3 @ IS e

2. %hdel MW

3. %hdel UgTS

4. 9gT8 AR W ai=At

Correct Answer :-

« g8 3R W g=r

4) ¥R g T¢ Tal o gH I3 TaN
T F €aaT W/ 91 & Woll W@
eaor w3t g @ o wft T
R q& 9¢ Tl ok A T @
HA qeTE @ g A Ers @

A fst =0 it g7 st ze ad



R qH 9¢ Tl R gH T e

U @ 6 U @ FT @ 7 W @

T § 9¢ Tt o5 @ 9 T@

IR T a3 T o T o T

39T YGIIT Y YGHF A & A qTel T FT 3ca} qaqmsv|

weeT: Hfd Aredl gout F fFud @A A qgd NG FW @ R?
1. g8 AR d=gaT

2. gag 3R a1

3. &Rl 3R 3Tehrer

4.7 3N fe=T

Correct Answer :-

o ¥ 3R gegam

N

5) 4R & ¢ Te €N T T e

Y H €I W 91 &l Woll W@

SEESE CENECE R

R g 9¢ Tan R A T Tan

oA Ters @ fE A qers @

q# =t 0 ad gH st = ad

R qH 9¢ Fan R gH I Tan

w8 & Td & Hor g 7 Wy @

& ¥ 9 T Teg @ 9 T

R g T¢ Tal o gF 93 Tan

3YYFA TSI FT YGHT AT q&F I I WA FT 3cad TASTI
wee: F3, WEH T N FAT FT @I &7
1. M §eat Y

2. Iy HgeT Y

3. R &

4. Uel-elel Y

Correct Answer :-

« 30T 9Ge1 AT



6) dR g ¥¢ el o gH 93 TN

T H ol W/ 1 & Woll W@

tas Ff FF A g F TH G

I g7 @ Tal oK qF @ A

A 9ETS @ R A g @

a# fast s 7€t qw fast ser ot

R qw 98 Tan R gH 9@ Tan

oI & fF Td @ Hor g T ;Y @

¥4 ¥ 9 9 oo & 9¢ 9

R gH 9¢ Tall o) g ¢ Tan

39YFA TSI FT YGHT Al G I a1 WA FT 3cal TASTI
weeT: w3 fFEa AT g N Fgar 87
L §TH & PIT e

2. %hdel IR

3. hael €T

4. dR 3R 4 gt

Correct Answer :-

« R 3R 4R gt

7) 4% & 9¢ Ta o) g T¢ T4

E1Y H £qo @ 91 & Foll @

tasr w3t o1F G g FEf wF G

R g T¢ Tal o gF 93 TN

A TE1s 8 RE A gEs @

a# fast =0 @dt g st = @

R qH 93 Fal R gH 9 e

9 8 % Td @ Hr g 7w @

T F 9¢ At o5 @ 9 T@

R qH 9¢ Tl o A ¢ T

39T YGIRT P YGHF A & AW qTel T FT 3ca} qaqrsv|
weoT: ‘X T 9¢ FaAr F IrYSH Aeq FAT §?
1. =rell



2.qH
3.9¢
4, X

Correct Answer :-

. §¢

8) drX gw w¢ el € g T¢ TaN
T # € @ 9 E Forr W@
tasr w3t o1F G g F wF G
R qH 93 Fan R gH T Tan
A qETs 8 RiE A gErs @

a# fast =0 @dt g st s
dR g T¢ Tal o gF 93 Tan
wid & 6 Ta @ "or @ 7 |y @
T @ ¢ Tl oo ¥ 98 Tl

R qH 9¢ Tl R A 9 e
3YYFA ISHIYT T YGHT AT qF S a1 WA FT 3cal TAZTI
gesT: Ud FT fqH ereg gem?
1. AMH

2. feat

3. fovem

4, 9Td:

Correct Answer :-

9) dR qH ¥¢ el ¥R gH 93 TN
Y H €I W 91 &l Holl @
tasr Ff FPF A g F TH G
R g 9¢ Tan R A T¢ Tan
oA ge1s @ e A qers @

@ st =0 i g st zer o
R g 9¢ Fan R gH T Tan



TR FI@ A ET AT Ay A

T § 9¢ At o5 @ 9 T@

@R q& 9¢ Tl oR A ¢ T

39T YGIT Y YGH A & AW qTel G FT 3ca} qaqrsv|
UeS: ‘€qST &1 A FAT g 87

1. forerr

2. 31

3. dogdAT

4. 73T

Correct Answer :-

10) 9 g# 3 TN €} qH T8 =@
Y H €I W 91 gl Woll @

tasr Feft ofF G g Foft wF
R g 9¢ Tan R gH T Tan

A gers @ e A qers @

o st =0 7 g A=t ser o

R qi 93 Tan R gH T Tan
w8 fF T & |or @Y o Wi @

¥4 ¥ 9 9 I & 9¢ T

R g ¢ Tal o gF 93 Tan
3YYFA ISHY T YGHT Al q&F I a1 WA FT 3cal TASTI
YRS ‘I HT GAIGATdY AsE FAT g7

1. =Ie]
2. 8&d
3. far

4.9q

Correct Answer :-

11) 9% gH 93 Tan €} g T8 @



T F €aaT W/ 91 & Woll W@
tast Y 5% @ aT w3 FF A
R qH 9¢ Tl R A ¢ T
A 9ETS @ R A g @

a# fast s 7€t qu fast et adt
R g 93 Tan R gH T Tan
w8 fF Ta @ Hor g 7 Wy @
¥4 ¥ 9 9 I & 9¢ 9a
R qw 9¢ TN R gH I Tan
39YFA ISHY T YGHT Al & e aTd WA FT 3ca] TASTI
vea: ‘fsT &1 3 Fuw g7

1. 3rHgeTNe <afdd

2. 3TSTeh eafed

3. 3V drell egfad

4, fpdt O 7 T areT IfSd

Correct Answer :-

. RO O 7 st areT Ied

12) dr g 9¢ Fan o gu I¢ o
T H Aol I 91 & Holl |

tas et g FE g Felt T A

R g T¢ Tal o gF 93 Tan

A 9ETS @ e A gErs @

a# fast =0 adt g st =

dR g @¢ Tal o gH 93 TN

uid & 6 Ta @ "o @ o |y @

T § 9¢ Tt o5 @ 9 @

R qH 9¢ Tl R A T e
39YFd YGIIT Y YGH A & A qTel G FT 3ca} qaqrsv|
weeT: sy &1 gAETdt e F4AT 72
1. forstr

2. gias



3. PR

4, PR

Correct Answer :-

. forstg

13) 4R g 9¢ Fa o gH T¢ ol

ETY H £qo @ a1 & Foll @

taer Feft o1& G qor Fof wF G

dR g T¢ Tal o gF 93 Tan

A 9ETs 8 RE A gEs @

A st 0 7@ qH st s @dt

R q& 9¢ Tl R A ¢ @

uid @ 6 Ta @ "o @ 7 Wy @

T § 9¢ Tt o5 @ 9 TA

R g @2 Tall o gF 93 TN

39T YGIIT Y IGH A & A aTel TR FT 3ca} qaqmsv|
WREA: ‘GegAT FT GG Usg HiA-AT §?
1. Afr 3R THer gt
2.3 & g T

3. ol THA

4. dhael ATA

Correct Answer :-

. Aafr 3tk TF @t

14) 4R g# 93 Tan fR qH T =@
Y # ool @ o & Foll W/
EEEE LR CE R
R qH 9¢ Fan R gH T Tan
A 9ETs @ e A gErs @

a# fast =0 @dt g fast =
dR g T¢ Tal o gF 93 Tan

TaR R IadET T AT



¥ § 9¢ Tt o5 @ 9 T@

R qH 9¢ Tl o A T @

3YYFT ISHA T YGHT AT qF S a1 WA HT 3cc} TARTI

weoT: IR 9%9 1 FfF gy F FAT AFT A IgA FT AT T@T 872
1. dR

2. TS

3. &73T

4, 33T

Correct Answer :-

15) 4R g# ¢ Tan o€} qH T8 =@

Y H €I W 91 &l Holl @

tasr F3 FxF A g F TF G

R g 92 Tall o gF 93 TN

oA gers @ e A qers @

@ st =0 ad g =t ser o

R g 9¢ Tan R gH T Tan

w8 & Td @ Hor g 7 Wiy @

¥4 ¥ 9 9 I & 9¢ 9

R g T¢ Telll R gF 93 T«

39YFA ISHT T YGHT AT G S a1 WA FT 3ca] TASTI
YR Y TSI FT H1ETS F4T §?

1. 3WFd FH

2. &% FE T garh UG & WY W d¢el AR

3. % o for ool afkfeufast & w6 gever anfewl
4. Fah T & HIAR doa & JReel ITAGT g1 S|

Correct Answer :-

o 3WIad T

16) R § I« aF faaFa darEd 7 g a9 aF A F IF 9@ WaFdT gHwg A A F FwFTCAT AT T
B F FROT 3AR I BEW F1 Afew aliRE A7 7 FE 931 IAF W IFR F FA FA A A
gt AR afFa ff| 9 gwe w1 anr st A e A1 gfEor e F dBR-gey ¥ R 3Rl ural



F W W ¢ N &F-UF fad # qedia-sesda dAia aF 4 o711 98 Al dga 99 @&a 1 ghayor
IHHT H I 9 <Teeld a1 A Ed &, a9 I & U & FE FF g W Be F 3w aqrehw A
a% Yo Tad ¥ 38F AT § W A 9o F© anar off @7 A gag A 99 é’rﬁmqsﬁ#,ﬂgrﬁ
Fhee = 3R T AA-g AT Bt W dle I 9

39T A FT GGH Al G AT YT FT 3ca TABT
weoT: fFe gour # el A urral F T W ST 417
1. fiT g

2. SI3R-Yey

3. gfadr favagey

4. 9YH faeagey

Correct Answer :-

17) iR @ 9« a%F eaga =l 7 8 a9 aF A F IF a7 Neagd gHwg G & F FgeAr T @
A ¥ FROT AR HUA REF F1 4w aORT AW T FAT 93| I G TER F FH I A A
gwar AR afFa dh ag gwe w1 AnT o FE e A1 AT anfreT F dBR-gey ¥ SN 3wl ural
ﬁm?wmmw-wﬁﬂ#q—nhv-qﬁﬁvmawmmla‘gwha’rﬂmwmmafaw
PP H 9 98 AT a1 H W F, d9 I F AW H FE FH @ W A & 3w aqrehw A
% Yoo gad ¥ 58 AT F W A g1 Fo arar it @ AT g N 7 § AFT 933 q, awW A
TleeY FI 3R a9 AT I9w w1 W dle S A

39T AGHY FT GGH Al G AT YT FT 3ca} TABT
YRET: ‘GE U1 HT ATH off FE FTeTd A F Y A 82
1. geTel

2.dg

3. oTH

4. Slleld

Correct Answer :-

18) R ¥ JI¥ a%F faFa aER) 7 & 9 a AN F Jg a7 FaFa g6@g 7@ f & w3
A & FROT 3AR F REE F FF TORF AW T T U3 3 T TER F I F B G
gHar 3R afFa &Y a7 gFe w1 anr ff FE e A1 gfRor I F SER-gey F SR e arral
ﬁ@?wmmw-wﬁﬂﬁqﬁhv-qﬁﬁvmaﬁmmla‘gwhﬁﬂmwmﬁlafaw
IPFT A 9 98 ST a1 H W &, d9 90 F AW H I FH g W T & 3w aqrehw AT
% Yoo gad ¥ 58 AT F W A qa1 Fo arar it @ AT g N 7 § AFT 933 q, qwW A
Tleet F3d 3R aH - Ivw A W dle a9

39T AT FT TGH AT & AT YT FT 3ca TABT
YeoT: FE I AT G & fhad o7



1. amefair

2. hEJIET

a

3. CTeTFC

4, 93

Correct Answer :-

19) R ¥ I« aF AaFe aEl 7 g a9 aF A F IF @ WaFT gHwg A A F FwgCAT AT TGP
gﬁﬂ:mmmmmmmﬂﬁ?mamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot At S A1 T Ihier F aR-gey & ahie seele arrdt
ﬁm?wmmw-wﬁﬁﬁq—zﬁv-mvmﬁmmlaammﬂmwmﬁlafﬂw
IPFT A I 9% ST a9 H W@ &, d9 I & AT A FE FH g W T & 3w aqehw AT
% Yoo gaad ¥ 38F AT 3 W A g1 Fo arar it @ AT Fag N 7 § FwT 933 @, awW A
TleeY FIQ 3R I A8 a9E B W dle S A

3YYFA TGATA FT IGHF AR T AT YA FT 3ca} IARTI

yea: A A FH yga W Mefisht gag fraa o e s 42
1. g9g IR oo

2. gaE a do

3.8 ©: §o

4. g€ A1d I

Correct Answer :-

« g ar I

S

20) R ¥ 99 aF AaFa dE 7 g a9 aF A F IF @ WAFT gHwg A A fF FwgTCAT AT G
gﬁﬂ:mmﬁmﬁ%ﬁw%ﬁmanﬂﬁ?mamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr oft Ad S A1 T IhiEr A aBR-gey & dhie 3Rl Al
ﬁ@wmmw-wﬁﬂ#qﬁﬁv-qﬁﬁvmﬁmmavwha’fﬂaﬂaﬁmmaﬁm
IPFT A I 9% ST a1 H W@ &, d9 I F AW A FS FH g W T & 37w @y AT
% e gad &) 5uF AT § W A qa1 T aAndr it @y A gag A 79 @ AFT 039 9, qW A
Tleedl Fa 3R A - 99w BT WX dle 3

3YYFA TGATA FT IGHF AR T AT YA FT 3ca} IARTI

9T AT H FE F Fa W el Rer F fFderm dea o & 2
L §TH ¥ FIT e

2.¢H #Hel

3.8 Hrer

4. ST HIel



Correct Answer :-

o ST HoT

21) R F 99 aF RAaFa aE 7 g a9 aF A F IF @ WaFT gHwg A A fF FwgCAT AT G
ma:mwmmmmmammamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot A S A1 T IhiEr F dBR-gey & dhie seele Al
ﬁm?wmmw-wﬁﬁ#q—nﬁv-mvmﬁmmlﬁmﬂmwmalaﬁw
IPFT A I 9% ST a1 H W/ &, d9 I & AW H FE FH g W T & 37w gy AT
% Yoo gaad ¥ 3% AT 3 W A a1 Fo arar ft @ AT Fag N 7 § FwT 939 @, awW A
TleeY FIQ 3R a9 AT a9E B W dle 3 9

3YYFA IEIATA FT GGHF A T AT YT FT 3ca TARTI
YeT: ‘HGHT T YAIIATE AeE FA-HT 7

1. 30 gl

2. hael fafas

3. haol TaereTor

4, hdel 3AT@r

Correct Answer :-

o 3WUFd T

22) R ¥ 99 aF AaFa aE 7 g a9 aF A F IF @ WAFT gwg A A fF FwgTCAT AT G
gﬁﬂ:mmﬁmﬁ%ﬁw%ﬁmenﬂﬁ?mamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot A S A1 T IhiEr F dBR-gey & dhie 3Rl Al
ﬁ@wmmw-wﬁﬂ#qﬁnv-qﬁﬁvmﬁmmaawha’fﬂaﬂasrmﬁlaﬁm
IPFT A I 9% ST a H W &, d9 I F AW A FS FH g W T & 37w gy AT
% e gad &) 5uF AT § W A qa1 T anar it @1y AT gag A 79 @ AFT 039 9, qwW A
Tl Fa 3R A Bl 99w BT X dle a9

3YYFA TGATA FT IGHF A T AT WA FT 3ca IARTI
g ‘A HT Y FAT g 82

1. 3T e

2. qRTEfeT

3. 3R |

4. AgAd

Correct Answer :-

23) R F 99 aF AaFa dEl 7 g a9 aF A F IF @ WAFT gHwg T A & FwFTCHAT AT T
B F FROT 3AR IR REW F1 Afew ariRE A7 7 FE 931 IAF W IFR F FA FA A A



g AR afFa ff| 9 gwe w1 anr ot A S A1 gfEor e F dR-gey ¥ R 3l ural
F W W ¢ N &F-UF fad # qodia-gedd dAia aF r o411 a8 Al Y 9 @&a 1 ghaor
PP H T 98 ST a1 H W F, d9 I &F AR H S FH @ W A & 3w agqrenw AT
% Yoo T9d ¥ 58S AT § @ A 91 & AT st TF A Foae A 79 & Aher 95 I, wwW H
Tl Fa 3R A -2l a9w v W dle 3 9

39T AR FT GGHFT A IS AT WA FT 3ca TSI
weeT: ‘SATRar Asg AT A ¥ FT 82

1. G2rsT

2. dcq@H

3. facel

4. deHg

Correct Answer :-

o facel

24) R § 99 aF aFa dER T g a9 aF AN F IF @ NaFT gHwg T A F FFTAT AT R
B & FROT AR U BEW w1 Afow arliRE A7 7 FE 931 3AF W IFR F FA FA A A
gaan 3 afFa dh 9 gw= F1 oA st A IR A1 f@or snhe # dR-gey F e 3w aat
F W W ¢ N &F-UF fad # qoda-ssdd dAia aF 4 a1l a8 Al dga 99 a1 ghayor
PP H T 9% AT a1 H W F, 9 I F AW H N FH @ W A & 3wy aqrenw AT
% Yoo gad A 58 AT F W A qa1 Fo anar it g AT Fag N 7 § AFT 933 q, qwW A
FlegY A 3R o @A-gd amw Bt W dle ara A

39T A FT GGH Al q& AT YT FT 3ca TABT
weeT: frd & SEAATT UeuT Fia-ar 7

1.5%

2. f&

3. &=t

4. 3%

Correct Answer :-

25) iR § 99 aF RaFa aEl 7 & a9 aF AN F IF @ NaFT gwg T N F FgTAT AT R
B F FROT 3R T ER F oo R s 7 FE B IAH W TER F I FA A QA
gt AR afFa dt| 9 gwe w1 A ot A S A1 fEor e F dBR-gey ¥ R Il aral
F W W ¢ N &F-UF R # qodia-usda dAia aF 4 a1l a8 Al dga 99 @&a 1 ghayor
IHHT H I 9 Teeld a1 A Ed &, 9 I & U & FE FF g W Be & 3w aqrehd A
% Yoo gad ¥ 58 AT F W A qa1 Fo arar it @ AT gag N 7 § AFT 939 q, awW A
el Fa 3R A -2 aw v W dle 3 9

39T A FT TGH AT I AT YT FT 3ca TABT



Uee: FEIcHT 2sg $T RAas Fia-ar §72
1. quifeAT
2. dRTcAT
3. G

4. WATCHAT

Correct Answer :-

26) R ¥ 9 aF AaFa aE 7 g a9 aF AN F IF @ QAP gHwg T A fF FwFTCAT AT T
B F FROT IAR IR RER F1 Afew arliRE A7 7 FE 931 IAF W IFR F FA FA A IS
gAar AR afFa dh g8 g F1 anr st af Sraa A1 Sf@Or IvhET F dR-gey & ahie seele Al
F W W g W 06U fd & qodw-ssha Aia aF = 911 a8 Al g 90 Fha 1 ghaor
PP H T 98 STATET a1 H @ F, d9 I &F A H S FH @ W A & 3w agqrehw A
% Y gad &) 3uF AT § W A a1 T aAnar it 919 A gag A I @ AFT 033 9, qwW A
TleeY F1Q 3R a9 Ad-E a9E B W dle i A

3YYFA AT FT IGHF A I3 T WA FT 3ca TABTI
weeT: aefish A Far Roaga 7@t ww@g ar?

L §TH ¥ FIT e

2. hdel e

3. hddl HIHART

4. AR 3T 3T et

Correct Answer :-

o FHEAART 3R AT gt

27) R F 99 aF AaFa aEl T g a9 aF AN F IF @ WaFd gHwg T A fF FgCAT AT TG
B F FROT 3AR I BEW F1 ofew arliRE o7 7 F 931 IAF W IFR F FA FA A AGEA
gt AR afFa df| 9 gwe w1 anr ot A e A1 gfEor e F dBR-gey ¥ R 3Rl ural
F W W ¢ N &F-UF G # qodia-yedd HAia aF r o411 a8 Al dga 9 F&ad 1 ghayor
IFFT H T 98 STATET a1 H W F, d9 I F AR H S FH @ W A & 3w ayqrehw AT
% Y Tad ¥ 3uF AT § W A 71 T aAnar it 919 AW gag A I @ AFT 033 9, w A
TlgeY FId AR A -8 aw BT 9T dle 3me A

3YYFA TGN FT IGHF A IS T YT FT 3ca TABTI
geaT: aefis gfayor 3rhreT # &l Ba A7

1. %IC H

2. STl H

3. TrelEery &S &

4. TAF H



Correct Answer :-

o CloIECIT a18r &

28) R ¥ 99 aF fAaFa ) 7 g a9 aF A F IF @ WaFa gHwg A & & FwgTCAT AT TGP
ma:mwmmmmmammamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot A S A1 T IhiEr F dBR-gey & dhie seele Al
ﬁm?wmmw-wﬁﬁ#q—nﬁv-mvmﬁmmlﬁmﬂmwmalaﬁw
IPFT A I 9% ST a1 H W/ &, d9 I & AW H FE FH g W T & 37w gy AT
% Yoo gaad ¥ 3% AT 3 W A a1 Fo arar ft @ AT Fag N 7 § FwT 939 @, awW A
TleeY FIQ 3R a9 AT a9E B W dle 3 9

3YYFA IEIATA FT GGHF A T AT YT FT 3ca TARTI
URe: ‘HEIcAT H Fia-"1 A §?

1. HFHURT HAH

2. AR FATH

3. gded HAN

4. eI FAH

Correct Answer :-

o FHURT FAH

29) R ¥ 99 aF AaFa aEl 7 g a9 aF A F IF @ WAaFT gHwg A A fF FwgTCAT AT TGP
gﬁﬂ:mmﬁmﬁ%ﬁw%ﬁmenﬂﬁ?mamﬁlmﬂmmmmﬁw
g AR afFa dh a8 g F1 anr ot A S A1 T IhiEr F dBR-gey & dhie 3Rl Al
B VR W aE T 0H-0F R #§ qoda-gedw die aF 9T a1l a8 el S a9 wh & g
IPFT A I 9% ST a H W &, d9 I F AW A FS FH g W T & 37w gy AT
% e gad &) 5uF AT § W A qa1 T anar it @1y AT gag A 79 @ AFT 039 9, qwW A
Tl Fa 3R A Bl 99w BT X dle a9

39gFd 39dFd AT FT GGH Al SULFT Tl F I JARY ¢
W ‘gaw 1 AAH qeg fAFT F & F4w g 2

1. QMH

2. 31

3. feet

4. 91d

Correct Answer :-

30) R & 99 dF RaFa aEl 7 & a9 d% AN N I a9 WaFa gwe T ff & wEew T P
B F FROT 3AR IR REW F1 Afew ariRE A7 7 FE 931 IAF W IFR F FA FA A A



g AR afFa ff| 9 gwe w1 anr ot A S A1 gfEor e F dR-gey ¥ R 3l ural
F W W ¢ N &F-UF fad # qodia-gedd dAia aF r o411 a8 Al Y 9 @&a 1 ghaor
PP H T 98 ST a1 H W F, d9 I &F AR H S FH @ W A & 3w agqrenw AT
% Yo T9d ¥ 58S AT § @ A 91 & ARaT it GF AW Fae A 79 & Aher 95 I, wwW H
Tl Fa 3R A -2l a9w v W dle 3 9

39T AR FT GGHFT A IS AT WA FT 3ca TSI
qeeT: AET A P FH FA 93 Aefislt FF ST 92
1. gsferer @

.99 9

3. Yqel

4.FR

Correct Answer :-

Topic:- HINDI (HIN)

1) g @ *i W 3= gy f AAwar a8 -
1. HErEE

2. STt

3. JHTGRITeIl $TST

4. dohldcC

Correct Answer :-

2) faeTor FY yHEATN FH AT AT FHAT &7
1. RIETOT A & IMUR |

2. TRI8T0T AT =TI T g
3. fIETOT @l 3T THRT el Gl

4.3 ¥ P QT

Correct Answer :-

3)fﬁmmmmﬁa~'ralw%-



1. 3T G
2. hael IR
3. hael Jrarehdl
4. hdel UTHTTRAT

Correct Answer :-
o 3Wed G

4) fFE YHR & 9T H sl FT T4« gar 82

1. dR

2. Sy

3. 9IFT FIS

4, e 9T

Correct Answer :-

4. UGl T hiAqT

Correct Answer :-

o JWGT FIAST

6) 27 3 T TF gEY ¥ AT W @ § TW T
1. 3R ol

2. Fadl Hishide AfFcafad

3. %had Alf@s sfFcafFa &

4. %a fafed sffeafaa

Correct Answer :-

. $had Alf@s fAIFT &1



7) RUTAYCE F WIE FIA H T i B-
1. 39 ¥ A $r 3R

2.5 ¥ IW & AR
3.90 ¥ g &1 3R

4.8 F 91U Fr 3R

Correct Answer :-

« 90 ¥ g FT 3R

8) a7 ¥ Fla-¥ fAeusdR aRdg ol faausr @@ &2
1. TR

2. JATIIRIA0T {7

3. TUTEROT IMEATHT

4. STEFHSUT HTT

Correct Answer :-

9) s ¥ W WATHR Y Feifadr 3o e & Fafaa &7
1. gIericd AISr folrer

2. 37T

3. #isH HIg=ir

4, SAYHT JITE

Correct Answer :-
. oA Frger
10) fSFAfaFaar 1 w&Tor §:
1. 3R ol
2. Shael JUIATET ATERTH H HioaTs
3. %hddl gdell g1y & difsd g
4. FId THEAT H HiSaATS

Correct Answer :-



11) gaFia B BRer Fa w0 T & dof F e wue wd ad
1. 398 Hid o 39 AU Shao-gast &1 =or R g

2. 583 forem &1 fAgEr smraa ol ouerd g3 &l

3.8 U Ml B

4. g ToRTem T gATEE T B

Correct Answer :-

. g T &1 JAREEY 9T B

12) ‘3myshr 3mefialeg AN THATT FFAS & §H AT T IRAANCA aren 9T FRES garT R
for@r 31 W@T Een?

1. gHAFET PR CaRT @ fURRT A

2. fhdl STeTeh @RI JeEretel Y

3. frdl geerstel ganT T @t
4. {7 garr AT &

Correct Answer :-

o AT dTelsh c@RT gersiel &l

13) ‘GR WoAH & HUGH i I?
1. TSIl AT FFAaTer

2. giTaCrAe gRIsIG acards ‘3731
3. qAYY T8 feeteht

4. FeirasT areEET

Correct Answer :-

. giaede ERIAe arcards 37

14) Fogd 3R 9o e wfdgy ey fFFras @ @ &2
1. Foreg Feomfet

2. M AR YHIG gfddar

3. 3O IR 991G Gfaddr



4. TER qUT &g

Correct Answer :-

15) ‘Faar as A9y & Aeusr Fia §2
1. 3T AGIER 941G &faadr

2. A gNT SHTG gfdddr

3. Tl ATE Efdaey

4, 3fTATd TS e

Correct Answer :-
. 3TER HES YA

16) ‘Tl ¥ B AT AR T5F WX AW I F WA qFT F FAGOT FieT A §?

1. Thel o gld 8 8 B ST ol

2. ¥l §g g3 o oI5 &Y S |

3. Tl d¢ gl W oI8gHh B S o

4.0 €1 TRt §q g3 A & ASH W A o0

Correct Answer :-
« THol §¢ gl W d5h W S o

17) ‘il #elewa frad qamr R Aew 32

1. 3Ueg AT 31

2. THEHAR AT

3. dIsH Argeir

Correct Answer :-

18) ‘Freq # EEgAlE FFaH qra+ 7
1. 7le g Tt



z.mmﬁ%ﬁﬂ
3. 31, dAdleg
4. AgIAT qaT

Correct Answer :-

19) ‘amer FEe FEd gErr AT §?
1. ghepid Fardr e

2. #icH HgaAl

3. 9HdTG

4, SAYHT JIIE

Correct Answer :-

20) ‘qUT$ 9T fFA YHR FT 9T g7
1. ATl 95

2. AT 99

3. 3vaie o

4, F3EI 9T

Correct Answer :-

. grATSe 99

21) ‘forw a3t & faeer & et amEn sryar wEAOr For w1 RFawor weqa frar smar @ sk
U FARS N 3uTRAfy srfaard ¥-

1. [qaoTeAs ey
2. danfash faeer

3. [9ORTcAs foay
4. [A7ATcHS Ay

Correct Answer :-

« Qaroncas [Aewr



22) ‘AF0 X ey Fad qEr RfRT Faeh 32
1. TSI AT FfFaaTe

2. ATYRTT Y

3. 1Ay 9y

4, ST JdlE AT

Correct Answer :-
o ARG 9
23) fFE SEEE! TATHR HF IGABRT & HGACAS {EIAG & & g 82
1. ghehid AT forer
2. giAATAC
3. ST gHIG
4. FEICAT gAT
Correct Answer :-

o HgICAT g

24) HEUT & YR G HINT HT HIT A7 8T §:
1. AT 9T, FEST AT

2. 3ARNcHS 3R GAMcHS ST
3. [Ferse 3T @I ST

4. ALY I, el HTST

Correct Answer :-

25) @« & AgAT F1 AW 4T &

1. SGTHIUT & AR
2. Sl & aRT
3. 8T EaRT

4, AT & GaRT

Correct Answer :-



o SYMEUT & AR

26) W@t ¥ AT araha Fe frer srgaat & fav maeas g @
1. freiRTaTar & fow

2. @80 3y el & fow

3. STeITaEAT & folv

4. QeraTaEdT & fav

Correct Answer :-

27) #Ra & R A BFw 5w F71 g oo 72
1. ST AT

2. fasmT

3. A 4T

4. TSTHTST

Correct Answer :-

o TSTHTST

28) gfa-geel a1 X W@ &, # q@l S | 9T # FIT W/ HLTET 39T ¢
1. AT AL HEIT

2. el T UX G S

3. %hale H g1 TG Sefam

4. s H 919 7T ACHIFI

Correct Answer :-

29) 4 garT ar # for@m = oF R 9K F1 9F AT Swn?
1. SITEIRS I
2. AT 9T
3. fFAId 97
4. QIEpfds I



Correct Answer :-

o STIFAIT I

30) aTeeT FIerA FT 35827 © -

1. 39AFT Fai

2. hdel el STTRIUT aTell $ITST Rl JITaT

3. shdel STeIehl T 3TARUT [ il

4. hddl dielel H AT gl ST 99T wem

Correct Answer :-

« 39UFd @l

31) 9T g% WU § fOEF SART EH AT I ¢ -
L §TH & PIg AQT

2. 3TTEAT &l

3. Hcdedl @l

4, TqTRT &r

Correct Answer :-

o fouRt &

32) HT9T FEVT F A AT vH el wfEAr § S -
1. AW §

2. R il &

3. AT 3™ g e &

4. T E

Correct Answer :-

. foRaT Tordl &

33) H&T A T Reg & IR & 9= & ga Ifg ANeF AR, e, Faa 3T F a0 A
IdTaT & Y 9 Rator i Fia & B srgemar §2

1. AT & 3T $r 3R

2. TP W TEH T 3R



3. T § St &1 3T
4. [aferse @ grEET Fr IR

Correct Answer :-

o AT & AT FT 3R

34) farar # @ sla-dt sfAardar sitvaRe o= & d@aw & oy 7@ @ 82
1. 99 T&IAT Hfaary g

2.99 & 39 & [AfRad &A

3. faf¥aa geres &1 AfRad T W) g

4. gEATEX TT Erel &1 o glell

Correct Answer :-

o« EEAER UG el &7 o gladl

35) feet F & Fla-t I R & T A SEERE Ffaar # a@t o e 32
1. SATFAITA dea13it Fr ifFcafed

2. STEY SR 1 AFSA =07

3. HII-ReT td GrATSS Fedl & 9fd fagig & Hraan

4. 9T T AR

Correct Answer :-

. SEF HIR HT AFS 0T

36) T H ¥ fFH YR & 9 & ‘9T &1 92T fFAr Srar &2
1. 3ftoaie a7

2. 3AIgATR 97

3. GAER 97

4. Y% YA

Correct Answer :-

o 3ilaRe g3

37) v # @ wla-dt Rdwar dwEg & F@faat & a8 o= S §?



1. Shraet fr g=ars A "G F=dr &
2. AR aMar & =07 37ar gl

3. GOHTH T AT #H faf@d £
4. R TR & R B

Correct Answer :-

38) fawet # ¥ Fla-W Fadwar swewT gHg & AeH A A4 §?
1. SoAehT AT g W TR gidr gl
2. GoTehT AT OT 9T 3Tenfet gielr 2
3. 3T TRAT H Tg TATHATET Aeh &
4, 3% YAl FT TadT eATeded aidT gl

Correct Answer :-
o 3T ELEAT F g FUEE) A E

39) famafaf@a dfFaal g oo 1 sareor §7
gere ot TGy T, gedl T geel AR AL
mafa fia 73 A gel, By gar i 39 el
A F T AR FTFH Fhed & A7 H WOTE |
o @ g af a8, F1 ¢ W g era A 1)
1. gAE AT B,

2. AAIeG, By

3. Rl gdam Beg

4. Gl FAAT B,

Correct Answer :-

40) fFArafaf@a 9fFaat # $la a1 oeg 82
el # 3R A, FT A FeR A,

9¢ Tar It gA, INAT F A

tRelt st wEh B, o ot wEa &,



39 at gar o 3, el § gERAN

1. BT Bog,

2. §9 "ATRY B

3. AT B

4. GeTETT B

Correct Answer :-

o AR B

41) farafaf@a 9fFaal & ia a1 og §?
A @i a7 @ a1 § 3R T g ansd |

Correct Answer :-
- gRENfde g
42) Prafaf@d 9Faat # Fia-a1 eaR §?
T R ge7 AR §fFe A sk @@ |
ST 3Rl SR, iy g2y 3fS o 183 11
1. HifAATT 37ePR
2. dICHT 3R
3. HEE TP
4. 3GTEXUT 3elehX
Correct Answer :-
43) AR 99 # a4 A F @t 7 39 FY Rad o7 foddir?

1. Irsgufa
2. 99 & e



3. #ATAT-Toar
4, 3797 TAeTH

Correct Answer :-

. U3 & HUceh

44) Tt FIEN FRTET F GIaT A Faelt 0 F R @R R s 32
1. AT FHTI T

2. FATAT GG

3. FATCIT 3EET

4. T TR

Correct Answer :-

45) FHEATE 9T qMUT B 9N T AT YA & FROT o areg afFd & FEArd @ weaEfaa s
e FY affra gar 8, 3§ FT F asq afFd wwa 2

1. ot ersg arfed

2. SI&TOT 2lsg 2rferd

3. ST 2o ATFd

4. 37TET Asq QAT

Correct Answer :-

« OTBTUTT Qe ATFA

46) '3l FT S[aT 3 FT WY, AHFT FT AT T -
1. ST AN |

2. F% IR T |

3. fondl o1 3E & ik F AT e

4. QU dlehdd & el JohleT|

Correct Answer :-

. Rl F 39 1 9T ¥ A )

47) 'gaar s e w1 e waor



1. gfadrg

2. 9UH

3.

4. aqd

Correct Answer :-

o UYH

48) Wi Z@RT IR F -
1. g&H &9 & fe@mam Sirer g
2. BIET e fe@mar Srar gl

3.9¢ W fe@mar e gl

4, ST FTah @M S g

Correct Answer :-

49) ‘At dIg AT FAATAT |

39 99 W A & &F

AR T Afer T

O 9y ad IR w1 - a7 9Fadr fRa sfa i §2
1. ATGeTCITel T

2. I JHIG

3. qAUNT g et

Correct Answer :-

50) “afg wey FAAT A FAE T A Tder g7y i FEld 7 Fraer wa1 32
1. gAY TG Gfaady

2. 3Ty g YF

3. oG, 2

4, HETAR TG Sfadey



Correct Answer :-

51) aforcir shrer wtt RAER @ &
1. 90T 31&W forge

2. GAI-AIRON Foled F HfSATS

3. HUGHIT gEdelded

4.ao‘msra$ra§?rqm@rqm

Correct Answer :-
o GAT-AIRON S # HfSars
52) R wiftew & ‘gromae #1 yads B AT ST 32
1. giAaTe 9
2. AN gt
3. qAUT fg et
4. STeTehl dooldl ATES
Correct Answer :-
o ERAWRT Feae
53) W& RAseq T -
oG BT T FgArdt gl
1. Jeey
2. 9eT
3. 96T
4. e Aa

Correct Answer :-

54) ¥& RAFeT adI0 -

saﬁ:gﬂaﬁaﬁﬁ#rmﬁﬁtm’tﬁ#aﬁc%m&ﬁtﬁmﬁgmyﬁmﬁwa@
CIoid



1. aRT Fred
2. AGTHIY
3. qRIOT

Pl

4. ATETT

Correct Answer :-

55) WE RFeq Tamd-
FRFT T W B & FeuFER & Sl # 3Tadfe & EyY & =T i
1. SHIATHS Aol

2. Taremama el

3. gdedicHe Aol

4. JidcatecdrcAs el

Correct Answer :-

o SYIGIcHS oll

56) TaaFdT 39 3T H ATYeT A &1 v AT IR W A F € TadAAT oo iR
3TpEAdl # 9gd I §1 UF AfFT F UF FAW A FTqAAAT §, W FA TR A HYAT qeA
A Taaaar A& & §H TH UNTT H AT TAA I TaAAAT A & TR, SAGfF TH FATT
AR &, ST AT TAAT AT & AT TAR FT FTAGT UIod FS F PS Fioams 787 g
FHF! APSEIHT W A Y FaaaaT §, fFg AR A @ FAR USHEl & W A Taadar ase a@
gt Tl St T@aAar g ured ¥, 9% qEY AfFd #Y T@aAar A aruw A@ g Wl g
TROT T@AT AT & & F@aTd1 § WY F G- F 9T [T g 5l

3w IR=BT F TeF A BE 717 woer 1 3eew AW

‘TH TF IR & AT T H TIAAAT A8l & ThS - H HYT HT AT FAT g2
1. 3HHT Ig FFATAT o AT gl

2. 9g foueT w7gr giam

3. 3% gif¥ca Sy =gt g

4, TIATAT 1 ATRRY FE &

Correct Answer :-



FaaAAT HUA T A ORYET A ¥ v @A IR W I F 9% Faaaar W #R

; # qqa I ¥ TF ARG F UF FA A TqAAAT §, W P TAR A YA TR
# FTaAaT JAET §| §A TH UNTA F AT TAT A TqAIAT AN § WHhd, AP UH HHAGE
AERE H, S AR TAGAT FAAAT § AT TAR FT IAGT T WA F FE HISAS o1t g
FAH! ATESENET W A Y TG §, g TR T @ gAR SN F W Y FacaAar ase g
gt Tl St T@aAar g urcd ¥, 9% qEY AfFd #Y T@aAar A aruw @@ g wfigwl g
THIOT T@AT ART B § FEAAT F WY TF QAT T ToA 3T el B

39dad IR F ygHT A R v wear 7 3o R_fAw:
Y& eI F1 3T oM Fr @ whar §7?
1. 3fFR IR Fded

2. MY & TIGIdT

3. TIAFAT HT THIOT

4, TgTAAT &1 AR

Correct Answer :-

« 3¥FR 3R Fe

58) TaaFdT 39 3T H fATYeT A &1 v AT IR X A F ¢ TaAAAT TSR iR

; # qqa I ¥ TF ARG F UF FAW A FTaAAAT §, W P TAR AT YA TR
I Tadadr 7€ B T TH URIT FT Al T A FaAAAT 8] & Fhd, FdF ThH AT
ARRE A, S AT TAT FAT § AT TAR FT ATAGT UIod & 7 FS FIoAE A8 gl
FHH! ABSENFT W I i FEAAT §, g gAN T ¥ AR ISR & WY A T qase A
gt afdwl St T@aAar g ured ¥, 9% qEY AfFd #Y T@aAar A amuw @@ g Wl g
TOT T@AT AT & & Fadaar & WY OF qfed FT 92T J3T el ¢

39T IR=dE F TgHT A RU T wea F1 3] AT
e Reufaat & & aEsist W T & Faaqar §7
1. 579 90T f&r 7 &

2. 519 EARY AT Fael &

3. 519 AR M § fRdT & dehell o &1

4, ST AT Tolod & TATIT &

Correct Answer :-

o S AR I & fRAT FI dohell® of &F

59) TaAFdT 9 3T A ATqeT A &1 v AT IR F A F 9 FadadT FeoEmar 3R
3TpEadl # 96d Il §1 TF AT F 4T FAR A F@EAAT §, W FA GTAR H FYAT e
@rﬁmaﬁr%lmwwaﬁ:ﬂumaﬁﬁmaﬁam STafy TF W
AFIRE #, ST AT TAWAT AT § A TART FT HTAGT UIod T A DS FioaAS 781 g
FHF ABSENFT W A A FaEAAT §, g g T ¥ AR IS & W A Faeen ase A



gt afdwl St T@aAar g ured ¥, 9% qEY AfFd Y T@aAar A aruw A@ g Wil g
TAYOT T@AT AT B §T FAATAT & WY TH GMAeT FT YA J3T S B

39dFT IREDE F TgHT AT RT 1T wo F1 3e) AfAT:

frer Rufaat & Tadaar Ve AR seg@adar # Tqo S 87
1. Teh HIAT YR &L & d1G

2. 3TATIT UTC el & d1G

3. TRUeT #rg & HROT

4, JTUT3T & HROT

Correct Answer :-

e T HIHAT YR A & 9l

60) TaAAAT 9 3T & fATder &gl &1 T AT IR N I §F 96 FaadT Wesrmdar iR
3THEAT A TG AN }| UF AT B 4T FAW Y FTqEAAT §, W FA TAR T IHUAT qeA
@rma‘é’r%lwwwaﬁmmﬁﬁmaﬁam Safy T aET
ANIRE FY, ST AT TAWT AT § AT TATT FT AT UIod F6T H FS Fioa$ A8t g
FHH! ABSENFT W I A FaEAAT §, g gAN T ¥ AR ISR & W A T qase A
gt aIRRwl St TaaAar g UIST ¥, 9§ g afed Y T@aAar # due adr g @ifewl g
TOT T@AT AT fF & FadaaT & WY OF fded $T G F3T v ¢

39dFd RS F TgaT A R 1w w71 3eew _fAw
TEATAT & WY FIA-UT T 3T gIam 872

1. 3R

2. a1f¥ca

3. 3TEWed

4, fSqeTar

Correct Answer :-



